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<dependency>
<groupIld>io.netty</groupIld>
<artifactId>netty-all</artifactId>
<version>4.1.108.Final</version> </-- 2025 -->

</dependency>

soedd

implementation 'io.netty:netty-all:4.1.108.Final'
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import io.netty.channel.ChannelInitializer;

import io.netty.channel.socket.SocketChannel;
import io.netty.channel.ChannelPipeline;

import io.netty.handler.codec.string.StringDecoder;

import io.netty.handler.codec.string.StringEncoder;

public class EchoServerInitializer extends ChannelInitializer<SocketChannel> {
@0verride
protected void initChannel (SocketChannel ch) throws Exception {
ChannelPipeline pipeline = ch.pipeline();
// /
pipeline.addLast (new StringDecoder()); //
pipeline.addLast (new StringEncoder()); //
pipeline.addLast (new EchoServerHandler()); //
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import io.netty.channel.ChannelHandlerContext;

import io.netty.channel.SimpleChannelInboundHandler;

public class EchoServerHandler extends SimpleChannelInboundHandler<String> {
@0verride
protected void channelRead0O(ChannelHandlerContext ctx, String msg) throws Exception {
System.out.println("Received: " + msg);

ctx.writeAndFlush(msg); //

@0verride
public void exceptionCaught (ChannelHandlerContext ctx, Throwable cause) {
cause.printStackTrace() ;

ctx.close(); //
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import io.netty.bootstrap.ServerBootstrap;
import io.netty.channel.nio.NioEventLoopGroup;
import io.netty.channel.socket.nio.NioServerSocketChannel;

import io.netty.channel.EventLoopGroup;

public class EchoServer {

private final int port;

public EchoServer(int port) {

this.port = port;

public void run() throws Exception {
/)
EventLoopGroup bossGroup = new NioEventLoopGroup(l); //

EventLoopGroup workerGroup = new NioEventLoopGroup(); //

try {
ServerBootstrap bootstrap = new ServerBootstrap()
.group (bossGroup, workerGroup)
.channel (NioServerSocketChannel.class) // NIO

.childHandler (new EchoServerInitializer()); //

/7

bootstrap.bind(port) .sync() .channel () .closeFuture() .sync();
} finally {

/7

bossGroup. shutdownGracefully() ;

workerGroup . shutdownGracefully () ;

public static void main(String[] args) throws Exception {
int port = 8080; //

new EchoServer (port).run();
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import io.netty.bootstrap.Bootstrap;
import io.netty.channel.nio.NioEventLoopGroup;
import io.netty.channel.socket.nio.NioSocketChannel;

import io.netty.channel.EventLoopGroup;

public class EchoClient {
public static void main(String[] args) throws Exception {
EventLoopGroup group = new NioEventLoopGroup() ;
try {
Bootstrap bootstrap = new Bootstrap()
.group (group)
.channel (NioSocketChannel.class)

.handler (new EchoServerInitializer()); //
bootstrap.connect("localhost", 8080).sync().channel().closeFuture().sync();

} finally {

group. shutdownGracefully() ;
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